U EHHT T £r

107 # A *F ¥ p zHRFMFE FL R

= E B RY TR

TR TR A e YRR AR (T E
$w$+25aoﬂahpmm SERA R - BEAESBEE SR ¢%?ZB@ZES

R R EFRDERRR SRR FR A3 A VRN FFRF R G HAE

HEnp
FEEL) FHOEL HB-1H 0000
%Et'iﬁifs'ﬂ’%ﬁ,?w/‘?/%iﬁﬁp%’% \—>U(—,CC.

DEREIE (T F b imtkd 0 3 RAREPALE o ]

- ~FA (L 254 5 100%)

L T #lie ¥ 2 180 iR & 2 sh 9 4. 3-8 (-105)x37—(-55)x37= ?
(1) 2X3x5 (1) 3700
(2) 2x9x10 (2) 1850
(3) 2°X5X9 (3) -3700
(4) 2°x3°x5 (4) -1850
5. i @ (x—4y)—5(x+y)=?
2. 2t %+%_1: o | (x—4y)—5(x+Y)
(1) -4x+vy
5 2) -13x
1) 1 @)
(3) -4x—9y
28 (4) 6x—9y
() 22
57 6. — EBLFIT 4 LB b4 Lfcdnt L 3125 ¢ ar
@) g
ITE 4 Ak 30 4 o R = #E R FLaNT
7 R
4 12 F
(1) 10
3. TP hRoddeRd JRE-Ef N7 - 17 2) 12
F4470 0 £ F 0 - R 500 e o 2 BT 3) 15
- R T 930’1’?%%‘13;3_} ) o0 (4) 18
BRRigi P 2 ehe @ 5 x o TARE AR B
b A
(1) 500+x=930
(2) 500x0.9+xx0.8=930
(3) 500x0.8+xx0.9=930
(4) (5004 x)x0.8x0.9=930

107 & B A 5 00 ER - ke P3RS

4




4 - BLAQ3,-4) > T Ak

(1) AZ|Xghepedg s 3

(2) AFlyphirgedr s 4

() Khgw + 4 3=
2 AR

(4 Khgts+a2 3H- Ao T3 4H = 73
2 AR

frexz4 4575

8. - k- fRILH 5§

4 4+
23 ML '

160 ~ » R 4R L ~ R

4y

L-b 5027 BRARL-FKx A0 R L
ﬂ*)sy JIJJIJ; f?'%]zﬂﬁ?
X=y+5
3x+4y=160
{x+w 160
(3) {x+w 160
{x y+5
) 1 ax+3y=160
PE ()= 2
(1) 81
2) 12
(3) -12
4) -81
10. 35| (-9+3 [=7?
1) -6
2 6
(3) -12
@) 12

11. TH|E@R Y > oR— B A {’%ﬁ’ﬁ'{(?

1) 2
@) 13
@) 17
@) 21
107 &4 +8 3 p FHEEC=E - Eadpf fid

12. f2- ~— =X B> > 4230 £ A2 ¥
2(_y:9 ...... @
dok B3 A olicy o TH|VRBIE 8 2T A ?
(1) ©O+@x2
(2) OxX2—O@
3 O+
(4) OX3—@X%x2
13. 4r@ > kT e F ANB~-C-Dw g* » vRip
Y
Bl s (44?7 b
(1 A ua
(2) B
3) C
(4) D
14, THPH 5 =2 - A3 RS X—4=04F & LiRT
o+ ehRA; ?
(1) y
\\\\
ol 1 \ X
(2) y
3) A
(4) y
/)




15. % 3*x3°=3", pla=?
(1) 3
2) 9
(3) 10
(4) 16

16. 3+ & 19—(-2)X3=?
1) 13
2) 25
(3) 51
(4) 63

17. e w0 52 g A~B A gk o w i a~bo
T PR~ B EAR BT R A b—a>0 kg ik ?
(1)

B 0 I
(2)

B 0 A
3)

A O B
(4)

—_—r 8P~
B 4 0

18. ¢ sra:(a—9) st E i 4-a="7?
(1) -3

2 —

3) 12
4) 13

<

W
=

S A AN XFYy=282y=3 &

Y

I JFIXT

19. T~
A

AT R P Bgh?

I

1) (1,3
2) 3,5
3) (0,3)
4 2,4)

107 &# AA5Y P FRECTE - & nfF f8d

20. T 7|vR— @BiEIF Y ha~b A I F

21.

22.

23.

(1) a=2°%x3-b=2°%5
(2) a=3x5*sphb=5"x7
(3) a=5Xx7%-b=2?%3
(4) a=2°X7~b=3Xx7

TREIRR D - B 2 AR ) 2

y

0.4)

X=3
 (y—4
Ax+3y=12
@ |y_4
Ax+3y=12
(3) X=3
3X+4y=12
@) 1y—4
THR- BERE S - AN X+ 2y=4
- ejfz?
(1) x=2>y=1

(2) x=-2>y=1
3) x=2-y=-1

St
s
u“s
‘\\

Tl A afob ot 2 Fi?

,fjé:lé’s—rﬁﬁg?éfﬁ;:afrbé\ E4oT

%E_L.FE

Ff

2 a b
2 c d
3| e f

(1) 2x3 725
(2) 2°x3
(3) 2X3X5x7
(4) 2°X3x5°X7

¥ 3F

¥



24. 7 f23% 2(-3x+5)=1+3x» K x= 17

1) 1
@ -1
@ &
@ —&

25. tdcst b AGG)% B(-3)= 2

R ASB Y B E S R Y

1) 1
2) 2
3) 4
(4) 8

107 & B A 5 00 ER - ke P3RS




